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1. Calculate the following Probabilities from using a standard Normal distribution, Z ~ N(0,1).
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2. Find values of z such that:
a. The area under the normal curve to the left is 0.0202. - 2 = - Z. O§
b. The area under the normal curve to the left is 0.7517. S _Z 0. € 2
c. The area under the normal curve to the right is 0.025. ) 9 l
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d. The area under the normal curve to the right is 0.3015.
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3. The long term distance calls made by the employees of a company are normally distributed with a
mean of 6.5 minutes and a standard deviation of 2 minutes.

a. What is the probability that a call lasts less than 4 minutes?
b. What is the probability that a call lasts between 5 to 10 minutes.
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4. You want to see if you want to take a course with a Statistics prof. in the upcoming Fall semester.
Grades are important to you and because of that, you want to know the average score for his past
classes. You can’t find this data, so you directly contact him. Prof replied your email by saying class

grades are Normally distributed with ¢ = 3 and 40% of students received 90 or higher You find the
average for fun!

Naturally, you want to run away from the course! But grades distribution is interesting so you
decide to use you S351 knowledge. What is the mean of this distribution?
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5. The manager of a gas station has observed that the times required by drivers to fill their car’s tank and
pay are quite variable. In fact, the times are exponentially distributed with a mean of 7.5 minutes.

a. What is the probability that a transaction is completed in less than 5 minutes?

b. What is the probability that a car can complete the transaction between 5 minutes to 10
minutes?

c. What is the standard deviation of time until a transaction is completed?

1Ae n riv Lbihm.w_ fV,?ell“"%\ +
P"! '(.lo ~ € r)Je(




6. Find the mean and standard deviations:
a. t5.
b. x3.

C. F5,15.



